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Candidates are required to give their answers in their own worcds as far as

practicable.
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Figures in the right hand margin indicate full marks.
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All guestians are compuiSory.
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While answering the candidate should adhere to the word limit as far as

practicable,
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15 minutes of cxtra fime have been allotted for the candidates 1o read the

questions.
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il the discriminant of d 2

of quadratic equation cx?-bx+a =0 is zero, then the
value of equal root § will be
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The roots of the equation a? pi_xﬂ - -:]2 =0 will be
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if the diameter of a semicircle is 14 cm, then its circumference will be
()" 24 cm b] 22cm
Ac) 36 cem (d} 42 cm.
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il the mean and median of an asymmetrical distribution are 268 and
279 respectively, then mode will be
&) 301 b} 305
) 314 (d) 308
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PA and PB arc (wo tangents drawn from an external point P to a circle.
If PA = 6 cm, then length of PB will be

(a) 3 cm (b) 4 cm
[c) H6em (d) 12 cm.
6. fG5H p(-2,8)3W G (-6, ~4 ) M =@ @ @vs w5 oy g &
F) (-6 ~ -
() (=6,~4) BiharPaper.com (@) (=4, 2)
(M (2,6) (') (-4,-6). 1
The midpoint of the line segment joining the points p [ - 2, 8 )] and
g(-6,-4)is
[a) (-6,-4) by (-4,2)
€} (2,6) (-4,-6).
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If the ratio of circumferences of two circles is 2 : 3, then the ratio of their radii
will be
fa] 4:9 {b) 2:3
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21, 4R «, p TW|WHE p[x) X2 Tx+k % IF € 3R a-

5_]§Iﬁ‘1kaﬂqﬂﬁaﬁiﬁa 2

= 1, then find
If u, p are the zeros of polynomial p(x)= x2-7x+k and a-f=1,1hc
the value of k.
,‘L 3 . i BiharPaper.com 2
22 TE 4x2-25=0, @ x A7 FFw |
% Ir -5IJ:2 -25 =0, then find the value of x.
2

23, W FAEER AABCH £C = 900, @t feg X 5 AB? = 24C?.
In isosceles AABC , ZC = 90°, then prove that AB® = 2AC |

24, & G52 gl F) B 10 R AR 6 Tt &1 93 A (FRA) I AN B AT HH
S B¢ (ATt ga @ WY Fal ¢ 2
In two concentric circles of radii 10 em and 6 c¢cm the chord of larger circle
touches the smaller (inner) circle. Find the length of the chord of larger

{outer) circle.

25. y # T e o foe faell P2, -3 ) AR Q (10, y) F A A

\-}%TD O & | l X
Find the value of y for which the d}stancc between the points P 2. - 3 ) and
Q( 10, y)1s 10 umt. i

26. UF AEgHE Vi W AGAT 100x TS & HR FAE 12 ¥ 7, 7 g Fun Fee

2
The volume of right circular cone is 100n em® and its height is 12 em Find
1ts lateral height. BiharPaper.com

27. A NS ¥ U GF% Al fAEw S 14 66 5
Find the surface arca ol a sphere whose diameter 1s 14 cm.

28, ¥ v o1 Fe e S ¥ (3, -5), (-7, 4 )9 (10, -2 F 5
Find the centroid of the triangle, whose vertices are (3, -5, (~ 7, 4 ) and
(10, -2).

29. 7% tanA=cot B, M EE FF 4+ B=90°. . .

Il tan A = cot B, prove that A+ B = 90°.
30. 7% 0= 45° A tan®0+ 1 A Frere | 3

i
VS sin”0
If 0 = 45°, then find the value of tan2g+ —1
E-'Inzﬂ

31 AP0, 7, 4 1 30 7 95 FeE
Find the 30th term ul"ls’l_p-ﬂ'ﬁ 10,7, 4, ...
' r
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Prove that "3--\5 is an irrational number.

BiharPaper.com

33. 0-B ® ufE W F O 9 5 = Rl
J Express 0-6 s rativnal number in simplest form.
34. sl dmm 3R 3% gar w A % ¥ H@n 5 i
Sum of a number and its reciprocal is '.IE-E Find the number.
35, TUm WHERN 2x2 - 2V3x 41 =0 WA TA B 7
Find the roots of quadratic cquation 2x% - 2J2x+1=0.
36. T AABCE) N Y o v & A fow e B o viena q wm
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Each side of en cquilateral triangle ABC is a units. Prove that the altitude of

the triangle will be —Jg—u . BiharPaper.com
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3

Find the point on x-axis which 1s equidistant from the points [ 2, - 5 ) and

(~2,9).

a8, FEl G W UF IR H ST &, A U FONT SR WE w3 ) wiasmar e wi

3
A dic is thrown once. What is the probability te get an odd number ?
= _ 2 _1-sin®G
39. fAg &1 (seci-tan()® = l+s‘1n[}' 3
I-sinl
“{C"Prmc that {secl- mnﬂ] I+ ol
40, ﬁmmfﬁsm” cos™0 ' 3
sin 20— cos®D
. 0 4 0 .
Prove that 2T —€0s T .. BiharPaper.com
sin® 0 - cos? 0
41, fan s w1 A 52 &, & swne s e 3
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The mean of the given frequency distnibution is 52. Find the missing
frequency.,
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Marks 10-20 | 20-30 | 30-40 | 90-50 | 50-00 | 60-70 | 70-81
No. of students 5 3 4 - 2 [ i3
fem T aRERA @29 & T i # BiharPaper.com 3
o HAOHA 10-25 | 2540 | 40-55 | 55-70 | 70-85 | B85 10U
faentug & w=m 2 3 7 6 6 &
Calculate the mode of the given frequency distnibution
C L 10-25 25-40 40-55 55-70 TO-R5 H5 (0
No. of studenis 2 3 7 6 L) i)

WEH EA 0 GRIEA N & aEE e gt &% O 7 T wE g at b
#FO¥: 7 81 3 14 @6 W LAOC = 40°, 5

&

C
Find the area of shaded region in the given figure with centre O, If radii of two

concentric circles are 7 cm and 14 cm respectively and ZAOC = 40°,

A
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C

g M A AR 2xey =6 M ax-2y=4. s

Soulve by graphical method : 2x+ y =6 and 4x =2y = 4,
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The angles of cievation of the top of tower [rom two poinls at [fl::il.ﬂr.'-l‘uﬁ of
4 m and 9 m from the basc of Lower and in same straight line with 1t are
prove that the height of the tower 1s 6 metre,

OR

The angle of clevation of the 1op of a building from the fool of a tower is 307
and the angle of clevation of the top of the tower from the foot of the builldmg
is 60°. If the tower is 50 metre high, find the height of the building.
fag &1 f o By & &t o o7 31 el & A & AR & 8 5
In a right triangle, the square of the hypotenuse is equal Lo the sum of the
squares ol other 1wo sides.
@ AB= 12 8 @ 3T 3 : 5 % IR J G BiharPaper.com 5

Agdr
AABC & T ®¢ fmd BC = 6 A, AB = 5 ¥ 9T LABC = 60° & 6% YUwY
% 37 Breger T ol o AABC R F st w3 g

Draw a line AB= 12 cm and divide it in a ratioof 3 : 5.

OR
Construct a triangle ABC in which side BC = 6 em, AB = 5 cm and
ZABC = 60°, Construct a triangle similar to this triangle whose sides are

complementary-

3 . _
i:‘”" of the corresponding sides of triangle ABC.
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